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After a week’s holiday in Busselton I returned eager to discover the winner of the FIDE World Championship final.  I had left with score 1.5 each in the 6 game final.  As Michael Adams was an old boy of Truro School in Cornwall which I attended in the 1950’s I was naturally hoping he would come out on top.  He lost Game 4, won Game 5 & drew Game 6, forcing 2 Rapid-Play games of 25 mins with 10 sec a move increments. In the first Rustam Kasimdzhanov (Uzbekistan), runner-up in the 1999 World Junior Championship, recovered from an inferior position as Black to outplay his more fancied opponent and then had little difficulty in securing a draw in the next game to win the title. Incidentally the four semi-finalists, ranging from 17 year old Radjabov to Michael Adams, 32, (described by British writer David Norwood as ‘the wrong side of 30’) belied the common misconception of Chess as an old man’s game. 
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Above is Game 1 of the Final after 39 moves.  Kasimdzhanov’s queenside pawn majority gives him the advantage (it proved decisive) but he must defend against 40...Nf3+!  He plays 40 Kf2?  How should Adams have replied?

Michael Adams -  Rustam  Khasimdzhanov

FIDE World Champ. Final, Game 3

Sicilian: Kan Variation
1.    e4
         c5 

 2.    Nf3 
e6 

3.    d4
         cxd4

 4.    Nxd4 
a6 

5     Nc3        b5

 6.    Bd3 
Qb6 

7.    Nf3        Qc7 

 8.    O-O 
Bb7 

9.    Re1        Bc5 

10.   Qd2(a) 
Be7 

11.  b3          Nf6 

12.   Bb2
d6 

13.  a4(b)      b4 

14.   Na2
Nc6

15.  Nd4(c)   Nxd4 

16.   Bxd4
a5(d) 

17.  Rac1      O-O 

18.   c3

bxc3 

19.  Nxc3      Qd8 

20.   Nb5 
e5(e)

21.  Rc7        exd4 

22.   Rxb7
d5(f) 

23.  Qf4!(g)  Bb4 

24.   Rd1 
dxe4 

25.  Bxe4      Nxe4

26.   Qxe4 
Qf6 

27.  Nc7!(h)  Rad8 

28.   Nd5 
Qd6 

29.  Qxd4     Qe6 

30.   g3 
Rd6(i) 

31.  Rxb4!     axb4 

32.   Ne7+
Qxe7 

33.  Qxd6     Qe2 

34.   Rd4 
h5 

35.  Qxb4     Qf3 

36.   h4 
Rc8 

37.  Qd2(j)    Rc3 

38.   Rf4
Qc6(k) 

39.  Kh2        Rxb3 

40.   Qd8+ 
Kh7 

41.  Qd1!      Rb7 

42.   Qxh5+ 
Kg8 

43.  Rd4        Qf6 

44.   Rd2
Ra7 

45.  a5           g6 

46.   Qb5 
Kh7 

47.  Qb6       Black resigns (l)

a)  A new move threatening 11 Qg5. 

b)  White uses his lead in development to cause trouble on the queenside. 

c)  15 Nxb4?? Nxb4 16 Qxb4 loses to 16 ... d5. 

d)  16 ... e5 first is better

e)  Necessary is 20 ... Ne8, defending c7. 

f)  Threatening 23 ... Bb4. 

g)  Dooming the pawn at d4. 

h)  Stronger than 27 Qxd4 Rad8 28 Rd7. 

i)  Allowing simplification. 

j)  Welcoming 37 ... Qxb3 38 Rd8+ Rxd8 39 Qxd8+ Kh7 40 Qa8, as the a-pawn will promote.

k) Threatening mate with 39 ... Rc1+. 

l)  Not a thrilling game, but most skillfully played by Adams.
SOLUTION:  40...Nxb5!  winning a pawn (41 Rxd8, Nxc3). White should have played 40 Rb1.
